[ Efficiency vs vertpos |

0.1
0.09
0.08
0.07
0.06
0.05]
0.04
0.03
0.02
0.0

SRR I A L AR AR LA R LRRY LRRR RRRR

BF
2B+ -1t -

o
1 444-
B

0.5E LLL
1072 10

—— DQM _CKF
—— DQM_mkFit

o DQM BDT_CKF
[Efficiend —— BOM BoTmkkit

0.05
0.045F
0.04F
0.035F
0.03F
0.025F
0.02F
0.015F
0.01
0.005F

SOF

| A PR I 1 R
: I

0.5}

=3

[ Efficiency vs. sim PV z |

0.05
0.045
0.04
0.035
0.03
0.025
0.02
0.015
0.0
0.005

.
i - N
¥ it

P — .

+ A

...........

— T
- _4_.': F ””-“ji_i:.—::

-




	Contents
	Page 1


